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1. (a) Write 4.216× 104 as an ordinary number

(a) . . . . . . . . . . . . .

(b) Write 3.4016× 102 as an ordinary number

(b) . . . . . . . . . . . . .

(c) Write 3.63× 105 as an ordinary number

(c) . . . . . . . . . . . . .

(d) Write 4.537× 105 as an ordinary number

(d) . . . . . . . . . . . . .

(e) Write 1.05007× 102 as an ordinary number

(e) . . . . . . . . . . . . .

(f) Write 1.381× 104 as an ordinary number

(f) . . . . . . . . . . . . .

(g) Write 4.21× 107 as an ordinary number

(g) . . . . . . . . . . . . .

(h) Write 5.032× 104 as an ordinary number

(h) . . . . . . . . . . . . .

Answers: a) 42 160 b) 340.16 c) 363 000 d) 453 700 e) 105.007

f) 13 810 g) 42 100 000 h) 50 320
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